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Casparian strips occur in
(1) Epidermis

(2) Cortex

(3) Pericycle

(4) Endodermis

Plants having little or no secondary growth are
(1) Grasses

(2) Conifers

(3) Deciduous angiosperms

(4) Cycads

Sweet potato is a modified
(1) Stem

(2) Tap root

(3) Adventitious root

(4) Rhizome

Pneumatophores occur in

(1) Halophytes

(2) Carnivorous plants

(3) Free-floating hydrophytes
(4) Submerged hydrophytes

Secondary xylem and phloem in dicot stem are
produced by

(1) Apical meristems
(2) Phellogen

(3) Vascular cambium
(4) Axillary meristems

Which of the following statements is correct ?

(1) Ovules are not enclosed by ovary wall in
gymnosperms.

(2) Horsetails are gymnosperms.

(8) Selaginella is heterosporous, while Salvinia
is homosporous.

(4) Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :

(1) Cell wall is present in members of Fungi
and Plantae.

(2) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(3) Mushrooms belong to Basidiomycetes.

(4) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.
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10.

11.

Winged pollen grains are present in
(1) Mustard

(2) Mango
3) Cycas
(4) Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Neurospora

(2) Agaricus

(3) Alternaria

(4) Saccharomyces

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
1 i iv iii i
(2 i iv 1ii i
(3) il ii i iv
(4) il iv i i

Which one is wrongly matched ?
(1) Uniflagellate gametes

Polysiphonia

(2) Gemma cups — Marchantia

Brown algae

Chlorella

(3) Biflagellate zoospores
(4)  Unicellular organism -

10.
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12.  Which of the following elements is responsible for [ 12. Spsear_cupmer edsaiod Qsoseid elampriy
maintaining turgor in cells ? urmofli@er QurmtiCGupdlpg ?
(1) Magnesium (1) wsat®wibd
(2) Potassium (2)  QumLrfwub
(3) Sodium (3) Gomgwibd
(4) Calcium 4)  srédu
13. Which one of the following plants shows a very 13. &ﬁ;@g@; e % . 5;? Uriih@g ggg @é{”‘?_g;]ru
close relationship with a species of moth, where %a;rras’vr %a(u@ Gmfr)e'v g% B ‘5(3 0 W‘i; e @TLI
none of the two can complete its life cycle without .. +G g) @ ) popmeng! ,‘;'5 3
the other ? aumpsas spHew Hlame| Qauiw Quievrs ?
(1) Hydrilla (1) @ap Ader
(2)  eumenyp
(2) Banana .
3) wear
3) YL'tcca (4)  eeaCumerr
(4)  Viola 14. dyeu anpbLyegefled DETHSSSISETHEET )
14. Pollen grains can be stored for several years in gamhsar  Collsg oauss Quaib  sSlTeu
liquid nitrogen having a temperature of bl yeeaie el Hlane
(1) -120°C (1) -120°C
(2) -196°C (2) -196°C
(3) —-80°C (3) -80°C
(4) _ 1600C (4) - 16000
15. . . L
15. Double fertilization is Boooos spapsd edrg
. (1) wsrss Gwlar @m e @ears Cadser
(D F1.1s10n of tyvo male gametes of a pollen tube B Coum Siaim_is@n_er @aemals)
with two different eggs . . . . = .
(2) @Qm <yar Qard GFLser @f @TLSFIL6r
(2) Fusion of two male gametes with one egg @@arag,
(3) Fusion of one male gamete with two polar B) @m & Qes  Qsd, Qo  simeu
nuclei 2 I &(h&H&(@HL6T @) anenTeg)
(4) Syngamy and triple fusion (4) o avmevpwrer sHaMsd (HAarGasl) WwHmd
16. Oxygen is not produced during photosynthesis by epefleanta
(1) Green sulphur bacteria 16. Qaupdler qeaflsCGarsmauiear GCurg psellemer
QausafilLiu(eudlevensv
(2) Cycas
(1)  usew goOUT UMGeNWUTESET
(3) Nostoc ,
o Ch (2)  essav
4) ara 3)  mrevLms
17. What is the role of NAD" in cellular 4 smyr
respiration ? 17. Qs seurdlgseles NAD* e Limies; erevran ?
(1) It functions as an enzyme. 1) =g en Oprdurs Qeuodu@Hs.
(2) Itis anucleotide source for ATP synthesis. (2) <ig ATP surfube ¢ BluselCureamL @
(3) It functions as an electron carrier. EPEOLD.
(4) Ttis the final electron acceptor for anaerobic (3)  <ig aleslgrar sLgHwns dewoduBSng.
respiration. 4) <oz sthfloor sursssd  sanLbleve
Qaérmar am.
18. In which of the following forms is iron absorbed . ,Gr a)e?;qrre.zrr ap . . )
by plants ? 18. Epsareupden THS Blenavaartled @\mby
. sreurhigermed SrHsstiu@Spg ?
(1) Ferric . A
1) Qurfs
(2) Free element 2) s @ saflob
(3) Ferrous 3) Quirrev
(4) Both ferric and ferrous (4) Qurils wHmib Quiyev @ Fem (LD
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19.

20.

21.

22,

23.

24.

25.

26.

The Golgi complex participates in
(1) Fatty acid breakdown

(2) Respiration in bacteria

(3) Formation of secretory vesicles
(4) Activation of amino acid

Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADPH
(3) NADH
(4) Oxygen

Stomatal movement is not affected by
(1) Temperature

(2) Oy concentration

(3) Light

(4) COgy concentration

Which among the following is not a prokaryote ?

(1)  Saccharomyces

(2) Nostoc

(3) Mpycobacterium

(4) Oscillatoria

The two functional groups characteristic of

sugars are

(1)  hydroxyl and methyl

(2) carbonyl and phosphate

(3) carbonyl and methyl

(4) carbonyl and hydroxyl

Which of the following is true for nucleolus ?

(1) Larger nucleoli are present in dividing cells.

(2) It takes part in spindle formation.

(3) It is a membrane-bound structure.

(4) It is a site for active ribosomal RNA
synthesis.

The stage during which separation of the paired

homologous chromosomes begins is

(1) Pachytene

(2) Diakinesis

(3) Diplotene

(4) Zygotene

Stomata in grass leaf are

(1) Dumb-bell shaped

(2) Rectangular

(3) Kidney shaped

(4) Barrel shaped

19.

20.

21.

22,

23.

24.

25.

26.
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o " speanilser sreurliLbhdlerner.
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(3)  =iZ @ Feuay GYHS SAEOLIL.

(4)  erCunGsmd RNA swmflider seribd.

Comg  Gomhs @55  GCrmCorGsrbaer  1Gfw

< TbAEED Hlane
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27.

28.

29.

30.

31.

32.

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Extension, Denaturation, Annealing
(2) Denaturation, Extension, Annealing
(3) Annealing, Extension, Denaturation
(4) Denaturation, Annealing, Extension

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Genetic Engineering Appraisal Committee

(GEAC)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) Retrovirus

(2) X phage
(3) Tiplasmid
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Bio-infringement

(2) Biodegradation

(3) Biopiracy

(4) Bioexploitation

A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Lerma Rojo

(3) Sharbati Sonora
(4) Basmati

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) T.H. Morgan — Transduction
(3) Fg x Recessive parent — Dihybrid cross
(4) G. Mendel — Transformation

27.

28.

29.

30.

31.

32.
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33.

34.

35.

36.

37.

38.

Natality refers to

(1) Death rate

(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
1) 5% June

(2) 16t September

(3) 21° April

@) 22" April

Which of the following is a secondary pollutant ?
(1) CO

(2) SOy

(3) COqy

(4) Og

Niche is

(1) all the biological factors in the organism’s
environment

(2) the range of temperature that the organism
needs to live

(3) the physical space where an organism lives

(4) the functional role played by the organism
where it lives

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer: 60 g
Primary producer: 10 g

(1) Inverted pyramid of biomass

(2) Upright pyramid of numbers

(3) Pyramid of energy

(4) Upright pyramid of biomass

In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Carbon
(2) Fe
(3 Cl
(4) Oxygen

33.

34.

35.

36.

37.
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4 O

GUGTLI LIS 6TEITLIG]

(1) 2¥fengder sHm @GRl o drar emansgl
2 WAwed whmib @uiHlGwued srranilser

(2) oWlferd eumps Cseeuwrner gluGeul L
ei&a

(3) oWlflend gmer eumpd 2 wiflud WwHmID
o lflwe Hlaeseidar aiFms LweTLHSSHID
cllgd

4) o ulferd GUT(LPLD
Qewdum_ o LkiE

gGrsgled

S\Ger
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epeEanm sedlemer CeueflliLL sryenromelg) ergl ?
(1) smiuen
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3
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39.

40.

41.

42.

43.

44.

45.

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Plant

(3) Bacterium

(4) Virus

Select the correect match :

(1) Alec Jeffreys — Streptococcus

pneumoniae

(2) Matthew Meselson —  Pisum sativum
and F. Stahl

(3) Alfred Hershey and - TMV
Martha Chase

(4) Francois Jacob and Lac operon

Jacques Monod

Select the correct statement :
(1) Franklin Stahl coined the term “linkage”.
(2) Spliceosomes take part in translation.

(3) Punnett square was developed by a British
scientist.

(4) Transduction was discovered by S. Altman.

Which of the following pairs is

matched ?

(1) Starch synthesis in pea

(2) XO type sex
determination

(3) ABO blood grouping

(4) T.H. Morgan

Offsets are produced by
(1) Meiotic divisions
(2) Parthenocarpy

(3) Mitotic divisions
(4) Parthenogenesis

wrongly

Multiple alleles
Grasshopper

Co-dominance
Linkage

Which of the following flowers only once in its
life-time ?
(1) Bamboo species

(2) Mango
(3) Jackfruit
(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt

(2) Oil content

(3) Cellulosic intine
(4) Sporopollenin

39.

40.

41.

42,

43.

44.

45.

uEd urgisnssiiul L. DNA psorsssdear <yiies
Fmern (WPHdled SPlutiLi’ L g erdled ?

(1)  yepems

(2) smeurd

3) umsefud

(4)  emeurev

sflurst Qummbduererans CaThOSHESD :

1) <os Qee.liflen - e QLG s nésev
BlGwreflGuw
(2) gy, WBedsear LONID - WUFD F @D
F. 6vCLamed
3) <yollyl Gamirad) - TMV

wHnb wrissT Caev

(4)  ugremsmiey Coals - @rd @uUTTET
wHmib Cos wrerm

sflwner sapenp CoiHOSHESD

(1) “Gevanriy” eramp Gemiane LwaTLHSS Weu
colipmiigafler dvCLameb.

(2)  eviemeACurGambaer LigriGLwmibed
FHLH S ermer.

(3)  yewer a5y e UM g6y iHleaflwid
SIDEHTTED 2 (HeUTSSLILIL L ).

(4) meamafleor wrHPSMS SaTH 9 SseuT

S. L Guoeir.
EpsaL Qaenselld auprsl CQUTEBSSILIL LG
eTgl ?
(1) wcmenflu@ed D UOEL () SieededsaEr
s1s 2 Huss

(2) XO auens umed Hliremruid : Ceul(H&dlafl

(3) ABO @rss cueans D QeenT QhIGSETenLD
(4) T.H. wrigmer : GenamriiLy

‘Do oL1QF &6 @sarmed Coremlng

(1) @emped uGLYSsET

(2)  smeyprs saflwunsed

(3)  @empMbd LiGLIL|gEeT

4)  s@apT QargCanpod

Epsareupmer serg eumppreailedy Cr @@ wparm
LU B weeugl erg ?

1) apmdéd Apderd

(2) o
3) uem
4) uwnumef

EPSHT_cUDHMIET DETHSSSISETHEMET
Qsreougiowrst Cuapieudledr 2 sallyfluyb ereruams
B35 erg ?

(1) CGumevendl

(2) eramQenti QsmeTig(HLILI

(3) QedguCamenmdd ear s
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46.

47.

48.

49.

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin
(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Parathyroid hormone and Prolactin

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Estradiol
(3) Ecdysone

(4) Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

controls respiration
and cardiovascular
reflexes.

(1) Medulla oblongata :

production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(2) Hypothalamus

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

(4) Corpus callosum

46.

47.

48.

49.

wafls sansaid o der @afl 2aBHimeyd eldane

9igarn Hlaneulla erger eped HmissrLbhEng

(1) &Owf 2 muiGur® Geveartibd (@D
&0 & (H GHelT

(2) eoflavGar® @amanmbdms@h Cendasser

3)  a@favGar®h @emanhd(HEEh S&0wam(haar

4)  EOwfl 2 mGur® @ amenthd HE@SLD
Quedlasaer

< e CurGumyflevedler wsHw LkiE eudléeEh
anmiGmer erg ?

(1) e mevigGrmer wHmd LGFTeMSsLg 68t

(2)  mevigremer LHMID LTFTedgTTLH anriCrer
(3)  yCrrQeevig Gymer wHMID pedL_meviq Gimesr

(4)  ungrepsrmL® ammrComest HmID
UCrmevmdiq er

O Germ SBlwsS 0l (BHgl Qamewryiin L

anriGrer ergl ?

(1) ern9Qps L febr

(2)  mevigren CGuimed

3)  eseL_CGamerr

4)  mevigenygCuimed

19 brew (T 6L @eT6u H M 6T eThS SiEnLoLIL S| 60T

QewCar® samrs Qurmbduererg ?

(1) Qu@éer : &eumgd wHmb srigGuir
RENTRT STEE: Ty QUG GG D& FanFHenaT

s_OUUBSHHDG.
(2) @apuGursemoey : &L enmiGreTsamer
o Hugd Qeuig, Ceu L,
uél HND FTESMS
ETu(HSGILD.
epeperuder Lo LiGdlaeamnar
Ganemrs @ BT
&HEH M &6 6T

(3) oflbls Qsmad :

Qaremy (h&E D, @UES
Qewdseamer
sL_(HUL(hSgID.

cuUgl OO @)L g
QumepenerT

(4) smruev sCema :

S CHTeTHISm e
Ganems @ BT &HENEET.

HLAAC/MM/Page 9

SPACE FOR ROUGH WORK

% collegedunia:

India’s largest Student Review Platform



Match the items given in Column I with those in

Column II and select the correct option given

i.

iii.

iv.

c
iv
i

iii

ii

Column II

Accumulation of uric

acid in joints

Mass of crystallised
salts within the kidney

Inflammation in

glo

meruli

Presence of glucose in

uri

ne

d
i

iv
iv

iii

Match the items given in Column I with those in

Column II and select the correct option given

50.
below :
Column I
a. Glycosuria
b. Gout
c. Renal calculi
d. Glomerular
nephritis
a b
(1) il ii
(2) i iii
3) i ii
4) iv i
51.
below :
Column I
(Function)

a. Ultrafiltration

b. Concentration
of urine

c. Transport of
urine

d. Storage of urine

a b
(1 iv v
2) v iv
(3) iv i
4) v iv

ii

ii

ii.

iii.

iv.

Column II

(Part of Excretory
System,)

Henle’s loop

Ureter

Urinary bladder

Malpighian
corpuscle

Proximal
convoluted tubule

iii
ii
iii

iii

50.

51.

Epasam_cupmer Fflwrer el amws Csrbls®Hss
Qzred I wpnibd Asm@d -5 Qurmss er(pgIs :

(D
(2)
6))
4)

Csred 1
HenarCam@Nwm

. Qaer

Med &medE&ema

. @Garmenemmi
QoL ig 60
a b c
iii i iv
i iii i
i i iii
iv i i

i.

ii.

iv.

Clargdl 11

opr Qsafler wy M
Sl Garge
SpibresSp @
SrerlIL(HLb SHeur
LIg SLOMET 2 LIL|&ET
&GermoeneneTudled
FHURD &spHS
AmiBfled @EnsCarev
2 _aTerg)

d

i

iv

iv

iii

Epsarcupmer Fflwumer Heaws Csib0sbHE
Qzr@d I wpmib Qgr@d II-o Qummss er(pgis :

(D)
(2)
3
(4)

CEUCER

(Qewiser)

HIGHT GUlq &L Ig
AmBfler orray

Emipr sLSsLILOSD

. Embir Coafliiy

a b c
iv v ii
v iv i
iv i il
v iv i

ii.

e

i

i

AELGER

(s e
B&5Clsm@dludler
NG

Caneired cueameray

w G L

A eou

. DTG LSl W6t

&Gl ge

(PSETenLD

QUENGT(GHLD MU

d
iii
ii
iii

iii
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52.

53.

54.

55.

56.

All of the following are part of an operon except
(1) an operator

(2) an enhancer

(3) structural genes

(4) a promoter

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Only daughters

(2) Only grandchildren

(3) Only sons

(4) Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1) Multiple step mutations
(2) Phenotypic variations
(3) Saltation

(4) Minor mutations

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining
b.  Secretory Phase ii. Follicular Phase
c.  Menstruation iii. Luteal Phase
a b c

(1) it ii i
(2) ii iii i
3 i iii ii

(4) iii i ii

52.

53.

54.

55.

56.

Qemeumeuareupmer  eubgnGarr®h  QgmiruHmg)
ergl ?

(1) Qus&s wruay

(2) o2 wirsd wrua

(3)  Sjenwliy WwyLE)

(4) Qeweou@® wrueg

) X  @CmGwrGsmie
X- Qevewriiy Cpmuilp@fu srranflsear o arerbgeflad

QuesrenflamienL_w

Sgmar (0S5 swpanuid Cumuersed wrr ?
(1)  wserseT e (Hb

(2)  Guryléreerser wL_(HD

(3) w&ese LRI

(4) a6 LHOID WSHETSHET

abwGar 14 efifev L ufewrmogHer Qawdpa
wrgl ?

(1) ve ugdlee Sefbrbohiger

(2) uypCsmhp wrHLITHSET

3)  eroCGLagerser

(4) APwerey HleTbrHDESGET

@@ Safdar @hlpen @Qawpuile o dmer euflams
AGGTATCGCAT erafled, LigQuBssiiur L. mRNA

el syger Qariyeaw eauflens erg) ?
(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Epasam_cupmer Fflwrer e aws Csrbls®Hss
Qzred I wpnibd Asm@d -5 Qurmss (IS :

Clgr@dl 1 Clargdl 11
a. Qu@mss Hlara 1. eramCLmQuor Mw
UL Haossed
b. &r&@Gb Hleave . coumed@emit Hlene

C. mgedlLmu iil. g iqgwied Hlanew
a b c

(1) i ii i

(2) i iii i

3 i iii ii

(4) iii i ii

HLAAC/MM/Page 11

SPACE FOR ROUGH WORK

Qcollegedunia;



57.

58.

59.

60.

61.

62.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Elephantiasis

(2) Ringworm disease
(3) Ascariasis

(4) Amoebiasis

Which of the following is not an autoimmune
disease ?

(1) Psoriasis

(2) Alzheimer’s disease
(3) Rheumatoid arthritis
(4) Vitiligo

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin D
(2) Vitamin By
(3) Vitamin A
(4) Vitamin E

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Homology

(2) Convergent evolution
(3) Analogy

(4) Adaptive radiation

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c Multiple allele

d. Incomplete dominance
e Polygenic inheritance

(1) b,cande

(2) b,dande
(83 a,bandc

(4) a,cande

Among the following sets of examples for
divergent evolution, select the incorrect option :
(1) Forelimbs of man, bat and cheetah

(2) Brain of bat, man and cheetah

(3) Heart of bat, man and cheetah

(4) Eye of octopus, bat and man

57.

58.

59.

60.

61.

62.

erbGmBmul Qaraeilermed SLS5ULMHIMD
marapuiflulemd HewBr mremHlsafied BreTLr L
2 PHé gHUGSSEDG ?

(1) ereloGuitrguimélen

(2) fAmeud Crm
3)  evarNurdev
4)  Beuwréev
19 6breu (T 6L evT6u H M GiT
9J6V6v ?

(1) Cemflurdlev
(2) @i Cpmu

ag  ‘ser  erdiuy  Crmi

(3) AorLmu@p <y rdenriigev

4)  &NgelCar

umed sullprs wrmib Curg iFer 261’ L 555 WSl
eThS el L Llem jere| 2 witeugmed Adsflsspg
1) eeulLler D

3) eeul Libler A

4) el LSer E

p&Cs@blsefler (peararhisTesat e
TIDUEMLIGGD 2 6Tem hmiend eTsHHE
THSSSETL(H ?

(1) CGammoregd

(2)  @elflere LiMarTTOD

3) ermes

(4)  swe Ly

vaflgafler @rsseuens umpbuflugens slurs

Mers@eugl ergl ?

a. Hleop Curiise

b. geer Curkisad

c. LGB SeSeser

d.  @epCurisd

e. e wrugy urgbuflub

(1) b,cwpmidbe

(2) b,dwpmyde

(3) a,buwpmidec

(4) a,cwpmibe

eilfflene uflemmosd e Qar@dsriur L

TBSgsET(Hsafller Seupmens erg) ?

(1) wefger, eucuameurd O  Fsreder
(LP GOTGUT TRl & 6D

(2)  eucuareurd, walger wHmib F&smaller epenar
(3)  eucuareund, wallger LHMD FssTaler @swib
(4) <=5l U6, eucuareumed HmD weflseilenr sar
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63.

64.

65.

66.

67.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. FEutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c¢.  Snow blindness iii. Nutrient
enrichment
d. Jhum cultivation iv. Waste disposal
a b c d
(1) i i iii iv
(2) il iv i ii
3) i iii iv ii
4) i ii iv iii

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Botanical gardens
(3) Sacred groves

(4) Seed banks

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(1) Commensalism
(2) Parasitism

(3) Mutualism

(4) Amensalism

In a growing population of a country,

(1) pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive and pre-reproductive

individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Flowers

(2) Roots
(3) Latex
(4) Leaves

63.

64.

65.

66.

67.

Epsareupmer eflwrer oL mws Csib0s®HEs
Qzm@d I wpmib Qsr@d II- Qummss erpgis :

saw I saow IT
a. Wl HCym.96Csageri. UV-B adli eiga
b. fiLsfle) Qasrar@®  ii. sTLfEs0
smpajflasms
Blriiyge
c. uafl GmoH iii. eer’ L i@uin(mer
WengenLo
d. b LAfBHs® iv. sfla) Coerarenio
a b c d
(1) i i iii iv
(2) iii iv i ii
3 i iii iv ii
(4) i ii iv iii

Wereu(meuareupmer ‘CoupdlL LimgismiiLy’

(PDDLDVTSS oTgl ?

(1) euer eflewrki@ Foolimil LhisT

(2) sreugeilwued LnisT

3) Carelh sr@mHaser

4) cums eumd

w@bsHeiludid  pamgamuWniqd  DHBHSISMET

swrflés ereucuansuTar @Qars6sTans 2 neypa

vweru (G ?

1) poudoans e pe|

(2) U (awei 2 pe|

(3) udibgwey

4) efar 9fe @milLafl 2 naj

(1 BTL_Ig.6 GUET(HLD a0 Smangudled

(1) @earQumss Hlaouid o émer BuUTsmar 6L
e @atumss Hleveulld o eTer BHLITSET
SSsh.

(2) @arQumés Hlaveudled o 6t BLITHEHD (LpET
@Qartuméss  Hlaveulldr o @Tar  BUITSEHLD
FLOLDME 2 _GTEITEHTIT.

3) Yer @QenCQumss Hlavould o eem BUTSMET
A @ar@umss Hlaeudled o @rer BLITSET
&Y.

(4) @arQumss Hleveudedr o eer BLITHMmET 6L
wer @Qartlumes  Hlaeulle o eter  BHUTEET
Gohey.

umind Qegufer ety LGS “evCws” erarn Cumans

wmbms sWThéEs LweaTLhEng ?

(1) werser

(2)  Geufraer
3) CeLL&ev
4) Qo
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68.

69.

70.

71.

Hormones secreted by the placenta to maintain

pregnancy are
(1) hCG, hPL, progestogens, prolactin
(2) hCG, hPL, progestogens, estrogens
(3) hCG, hPL, estrogens, relaxin, oxytocin

(4) hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT

(1) blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.
(2) 1isanIUD.

(3) increases the concentration of estrogen and

prevents ovulation in females.

(4) is a post-coital contraceptive.

The difference between spermiogenesis and

spermiation is

(1) In spermiogenesis spermatids are formed,
while in

spermiation spermatozoa are

formed.
(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

(3) In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.
(4) In spermiogenesis spermatozoa are formed,
while in

spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

The amnion of mammalian embryo is derived
from

(1) ectoderm and mesoderm

(2) mesoderm and trophoblast

(3) endoderm and mesoderm

(4) ectoderm and endoderm

68.

69.

70.

71.

spiajdpere LFTwflés Gerraermoumd &rdsiiuiHib

anmrGwrerser wreaey ?

(1)  hCG, hPL, 4GCyrQeevr GLmeyer,
LGymeomdiq bt

(2)  hCG, hPL, 4 GyrQegevr GLmegerr, Fraviq regesm

(3) hCG, hPL, rreviqryege,
2156 GLmél et

(4) hCG, yGyrQeev_GLmegewr, FrFavIgqTeg6H,

Nerssler, <

&@p&CHTETT g HM([H&SET

<

FmCanal’ eremDy H(HSSML FTHELD

(1) smueuwbgiarar mevlg.remer erbilsemer
apss sGL@L LHus®s 5OAD.

(2) e IUD.

(3)  Quamsafleh Frevg 6T SjaTanel g & MEg)
Sjar_Gad Ceuaflumgame sH&SHMGI.

4)  yewiseusE e LweTLHSSILHD

H(HSSHEL_ FNGEILD.

e QuUTAIGUITCg el & evean&Eh
a@uUTICLaues@L @enLulléd 2 drer
Caupuir(haser ergl ?

(1) ewQuiBlGurCmealflavelier ev@ LTI g (H&ET
2 (meundlermerr; evGumSCuiageiled
avGuil LT Gareunssdr 2 (Heurdlerpes

(2)  ewQuIsCurgealfeveller CaTCGLmel
Qedgeflelmbg ev@umol CLrGameursser
Qeilafl.Cure @ peflger
Qauefllliu@dlemer; evEumOCwagefe
avGuil CLTGsmeunss6r o (heumdlermer

(3)  evQumACurCaeaifeveda
eav@uiol L rCFmeursser o (meumdlemmer;
aQuUTSCweageid evGuTLTL g HEET
2 (Heumdlesmen

(4)  evQumACurCaeaifevedla
QUL L rCameursser o (peumdlemmer;
QU Cueagaid evCuinl GLrGameursgser
Qeilafl.Cure @ peflgier
Qauefll L@ dermer

Lt iq serfler &(medl g6
eraumMladl(pbg QasremyriuGEmng ?

(1) esGLrGLmbd whmd SCETQL b

<y eflwme

(2)  BGer@QLibd whmid GGFm.Cumiarmevr
(3)  eraGLTQLmD whmid BCTGL b

(4)  &CLr@Limbd whmd erarGLr@Lid
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72.

73.

74.

75.

76.

71.

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Heterodont
(4) Pleurodont, Diphyodont, Heterodont

Which of these statements is incorrect ?

(1) Enzymes of TCA cycle are present in
mitochondrial matrix.

(2) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(3)  Glycolysis occurs in cytosol.
(4) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Select the incorrect match :

(1) Lampbrush
chromosomes

— Diplotene bivalents

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Allosomes

(4) Polytene
chromosomes

— Sex chromosomes
— Oocytes of amphibians

Nissl bodies are mainly composed of

(1) Proteins and lipids

(2) Nucleic acids and SER

(3) DNA and RNA

(4) Free ribosomes and RER

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Protein folding

(2) Cleavage of signal peptide

(3) Protein glycosylation

(4) Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polysome
(2) Plastidome
(3) Polyhedral bodies

(4) Nucleosome

72.

73.

74.

75.

76.

71.

waflg Ldaamwlienu edeard@h @GNs6dr wramey ?
(1)  $sCsrnmen, el eemuCummeL,
CanrGorLmes

(2)  yenGrmimer, GuramenuGuimLmerL,
CammCGuomL_mebr

(3)  S&Camrmer, el o.aruGuim_mere,
Qamt g CrmmerL_

(4)  yeEpGrmmer, el ooenuGuimLmenrl,
Gam 1 Crmmer

emeu(md Fmpmiseied Seuprers erg ?

(1) TCA sypnéluler Qprdlser apol L mameirigfuim
wrflgefled 2 drarg).

(2) eanlymear AemsEET gh@b NAD  ssar
Qm&ED Uy SaeramedlFlen s,

(3)  daararelflev engl CLranadler Hlaspdmg.

4) yp ewlLrsramgur seuslld <&HCL L 1qe6
umeUmiGeager HlapLb.

Seupns Qummpdwerer @eaeama CsTBEs0 :

(1) embrlyev - g LiCermie 6t
&CrrGurCamibaer aUGaleerT(H&eT

(2)  &p Qo LrQeengfs - L- eugeu
&CrrCurCambsen &CrrCurCamib

3)  @OCanCambadr - umed

&CrrGrCamibaer
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srenrliL(heugl

(1)  yrsmser wHod SlUGHEET

(2) BPusels oslen whmb SER

(3)  1q.eTetT.cf. LDHMLD <YiT.6TEHT. 6.

4) seaflss erGurGsmbsdr wpmbd RER

Gereumd erhg Hlaspey Qaryleryiunmea slbarms
cuamafararelled (RER) flspeudlsvsnsy ?

(1)  yrs wiiy

(2) @hws AuiieL(Hsefler Yarey

3) urs dearGardlrssid

(4)  umevCGumredlllni® 2 (Heumdsd

ueulg  urdl@uiien (Bsemer @Gy  FowsHed
2 meumss e enyGurGembser g MRNA e
@aewryb. AssmsL Gsrii erGurGsambsafer
Quuwir

1) urelGsmrbser
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78.

79.

80.

81.

82.

83.

Ciliates differ from all other protozoans in
(1) using flagella for locomotion
(2) using pseudopodia for capturing prey

(3) having a contractile vacuole for removing
excess water

(4) having two types of nuclei

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia

(2) Aves

(3) Reptilia

(4) Osteichthyes

Which one
homeotherm ?

of these animals is not a

(1) Macropus
(2) Camelus
(3) Chelone
(4) Psittacula

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Presence of a boat shaped sternum on the
9P ahdominal segment

(2) Forewings with darker tegmina

(3) Presence of caudal styles

(4) Presence of anal cerci

Which of the following animals does not undergo
metamorphosis ?

(1) Earthworm
(2) Moth

(3) Tunicate
(4) Starfish

Which of the following organisms are known as
chief producers in the oceans ?

(1) Dinoflagellates
(2) Cyanobacteria
(3) Diatoms

(4) Euglenoids

78.

79.

80.

81.

82.

83.
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L&Slsamer eTUILIGRTLSET (peld Sear_Hluiemd ?
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84.

85.

86.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface
(2) Increased respiratory  surface;

Inflammation of bronchioles

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Decreased respiratory
Inflammation of bronchioles

surface;

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1) iii i ii

2 i ii iii

3) i iii ii

4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
a. Tidal volume 1.

b. Inspiratory Reserve  ii.

volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) i ii i iv

(2) i iv ii iii

(3) iii i iv ii

4) iv iii ii i

84.

85.

86.

SELGIOT  OHMD  eTbeslAfrelled  Henyuiyed e

Blevoenw perpGur sflwres @doug erg ?

(1)  QGyrerensCuindsefler &pHé gHLBSO; Feurs
Uiy GenSed

(2)  seurstugly oFsMgsen;
WrrerensCuimesefler spHdl ehLBBED

3)  GyremensCurcsefler eramenisams
SHafssh; seurs ULl Aflsflssen

(4)  seurs LTUY G®DS®; UrTeransGuirdgefid
Fphél gHuBSD

Epsacupmier eflwrer e mws Csib0sbHEg
Qzred I wpnibd Asm@d -5 Qurmss er(pgis :

Clasr@dl 1 Clargdl 11
a. apailsp eurdbe 1. @Lg el fwb whmibd
@L gl GQeuemgf&dler
@aenLuldled
cuegl Gleuariy fadler
wHmID HievTuired gwoefl
@aenLuded
cuegl erlflwid hmiLd
cuegl Glouariy fedler

b. @meilsp cureay i

C. emyeul L eumede] iii.

@aenLuldled
a b c
(1) il i ii
2 i ii iii
3 i iii ii
4) i i iii

Epasam_cupmer Fflwrer aleamws Csrblls®Hss
Qzr@d I wpmib Qgr@d II-o Qummss er(pgis :

Clasr@dl 1 AELGER
a. ppFserey i. 2500 — 3000 mL
b. o drpsas sriiys ii. 1100 — 1200 mL

Cs555 Gamearereme,
C. LD&HUTE @FI58e iii. 500 — 550 mL

Qamérerera,

d. sm@ Qarérararey iv. 1000 — 1100 mL

a b c d
(1) iii ii i iv
2 i iv ii iii
(3) iii i iv ii
4) iv iii ii i
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87.

88.

89.

90.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chief cells

(2) Goblet cells

(3) Mucous cells

(4) Parietal cells

Which
respiratory disorder ?
(1) Anthracis

(2) Botulism

(3) Silicosis

of the following is an occupational

(4) Emphysema

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column II
Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) it ii i

@2 i iii ii

3 i ii iii

(4) ii iii i

Calcium 1is important in skeletal muscle

contraction because it

(1) binds to troponin to remove the masking of
active sites on actin for myosin.

(2) detaches the myosin head from the actin
filament.

(3) activates the myosin ATPase by binding to
it.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

87.

88.

89.

90.

erflsCrrCumuflens s LDED(LPSHLOTSE 2 @b
srevl_ Mg QFsdr org ?

(1) & Qsdvser
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b. @&Cermyefler ii. @$sbd 2 dnsd

. opeLler 1. urgsmiy QEwdpenn
a b c

(1) iii ii i

(2) i iii ii

3 i ii iii

(4) ii iii i
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91.

92.

93.

94.

A metallic rod of mass per unit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

1) T714A
(2) 1476 A
(3) 598A
(4) 11-32A

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

1) 079W
(2 274W
(3) 043 W
4) 113W

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from
(1) the current source

(2) the lattice structure of the material of the

rod
(3) the magnetic field
(4) the induced electric field due to the

changing magnetic field

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40Q

(2) 250Q
(3) 25Q
(4) 500Q

91.

92.

93.

94.

@ @E Basdne 0-5 kg m™ HepQarem g
2 Coonasd sl qerm, FeL L ggiLer 30° sriieys
CaramsamssOamaTL.  eUpeIpLIUTGT  FTilSaTsd 6
Bg HLgsriul Harerg. sWlunearg ECpel(P&ssTL®
@mss, Osmgsg SHosullo 025 T asrpsl
HosgrarL o CQewudu@ssiul®, <iser et
WerGarmL b umybuly Qeuwiu@Spg. erefed,
sPleows BEITLD  Hleewns  deusd(hEs S
o flCGw umyd WlerCerm b

(1) 714A
(2) 1476 A
(3) 598A
4 11-32A

am Wergmamy 20 mH, gm wWarCssdl 100 pF
wHmd e Wasaw 50 Q  fuer Csm
@eenibe, emf, V = 10 sin 314 t 5 Qe Cw
@aanssliLl(hetarg @bHs &HHd THUGHL HMED
QLI

(1) 079W
(2) 2714 W
3) 043 W
4 113W
(1 Hersrbs — gi(Hed paersEnsdan_Guw
QemiGssns Qoevedlw erali STHSESL0

eussLILL(Hetargl. WBleanamhs WarCarmLbrerg)
S@ISHESILLLGID, @l L sTHsL Lossd
adlit  amhsssll  CoaChrad  geteriL(BEg.
carGeu  sflwunerg FrrLY  WlerHlane  pHmeneL
Qupiflpgl. @sh@ Csameuwnar Ceumeanwt GFuiw
SGeUg)
(1) e epevid
(2)  sPQeLwIULHeTer Cummerd e
Sl &CaETeney sl
(3)  smhsLILeD
(4) srhsl o brHpsslermed grem @D
WesTLjeuLd

®m  QuiiE  smer  sroeuCerm S LMer
WerCerrm_ L 2 awre HILUWL 5 div/mA wHmib
Heranpss oaie) mUuDd 20 div/V  eafld

sréeuGar B L fler WegeanL

(1) 40Q
(2) 250Q
3 25Q
(4) 500Q
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95.

96.

97.

98.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Eg = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(D ”—‘jE

(1+ bl t}

mVO
(2) Apt
3) 2 (1+ e tJ
IIIVO

4) Ay
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 20
(2) 30
(3) 10
(4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1 1:2
2 4:1
3) 1:4
4 2:1

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 1:1
2 2:-1
3 1:-1
4) 1:-2

95.

96.

97.

98.

m-HlenpQararr e erbledL e,
— A
V =Vyi (Vg > 0) erep gleuss SangGoussda,
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e s eier menpSng. gleusssda Ay erarLig)
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S Berid
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1+ oy
mVO
(2) Ayt
eEO
3) An|l
( ) 0 ( + mVO tj
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10 All_rser. gleusssdld Q) MmbE <iamisHshasaeilen

aamanilgens 600, erefler, 450 EmSHHESHET
Senga|m @b T (ol sdla)
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(2) 30

(3) 10

(4) 15

2vy s flrCeuer Qsmem (Vg ererigl Lwem Qsm &
<fiQeuar) eafl o 2 Cors ssiiqer g UGLD
Cumg, 2W0puLGDL aCoslrarseaiear @U@
HeansCeusd v u@sdfer ofiCeuem 5vy ojarey
<iCs BE DS
o 0pLILEL abosgrearsaiear GUmL HasCGousd
Vo, erafled Vy eSl(Bbgl Vo hamer elldlsid

SHlafNssriul L, S5 1q 6T

(1) 1:2

2 4:1

3) 1:4

4) 2:1

wanigrFer Sjameler @ GumT &HOQIETET an
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SDDDEISEGTRT $56)

1) 1:1

2 2:-1

3 1:-1

4) 1:-2
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99.

100.

101.

102.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

)

A

<5

(1 =D

(2)
3) D

@ 2p

4
Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed ® about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) We>Wg>W,
(2) Wp>W,>Wgq
(3) Wu>Wg>Wg
(4) Wpr>We>Wg

Which one of the following statements is
incorrect ?
@)

Rolling friction is smaller than sliding
friction.

(2)
(3)

Frictional force opposes the relative motion.
Limiting value of static friction is directly
proportional to normal reaction.

Coefficient of sliding
dimensions of length.

(4) friction has
A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

1) 05

(2) 08

(3) 025

(4) 04

99.

100.

101.

102.

gleusssdler euieblaneulaierer @ GuTheTTaTg
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shen WPsdpg. eulLE apler el b AB =D
erafled, 2 wigidb h i Fwwrang

B

(D

(2)
3 D

@ °p

4

gperm GQummetaser A @ (@ S Csmerbd), B 1 (e
Quadlu el el ®) wppbd C : (@@m eulL
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oHmbd b R Qerarieveuwngd  sw&di
sigansiund @Cr ojere| CaramdlasCoisd -6
Fpdflammear.  Deubean  @uiemedd  Came ()
aumeugh@ GCsameuwrmar Geouewe Sjatey (W)
wdllemu yrsSHbslcugharear QT

(2) WB > WA > WC

(3) WA > WB > WC

etreu(HLd Fnbbled 6Tg Seaumresg)

(1) 2 (mEpbd 2 gmile] e(psELd

2 TTleeUSETL gD HHlwig).

o mile| ellenswinarg &L QUEESmS
THTEEEFnIG LI

Blenay o ymiellen euyiby wlLi Crr@Ess
erdleflenans @ Crirelldls QuTmSSIperL G
@J@é;@ 2 TMUG|& (&HENT&LD f)m S| (&HSGENETE
QamerL_g).

m-fleopQarar_  ps@mL  QsrEly  eearm  4m
BleopQsrenr  Hlevoowrs o drer Gar@rder g
Corgiflpg. Cuomsis@l et Hlan@Gmpelre
Qarely @ueblaanss aumdng. Hlangmbeurear
Qamalber  gleuss FHowsCasnd Vv erafld,
BlaneS 8 @eamasid (e) er iy

(1) 05

(2) 08

3 025

(4) 04
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103.

104.

105.

106.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y

T

B
A
0 —>T
w 2
@
(3) g
@ 2

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 132cm

(2) 12:5cm

(3) 8cm

(4) 16 cm

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 26:8%

(2) 625%

3) 20%

4) 12:5%

At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1-38 x 10722 J K1)
(1) 2508x10*K
2 5016x10*K
(3) 8360x10*K
4) 1254x10*K

103.

104.

105.

106.

@m @bon e euryeler uwmo (V) wrmyur®
Sgen  QeutiuflenaenwiL (T)  Qummsssmer
auepCar(® uLsHedr smLiul (Hererg. ULSHed
Blevaw A Wellmppg Hlewew B mE wmmb Gumg
aumyellammed Qawwtiul L Ceumed@h, SaTTe
o U saupiiul L GQeutingdp@oner ssa]

\Y%

T

o

ﬁT

(1)

(2)

6))

(4)

N N Wb W o b

@ Fnbs s @Gmuiler oL o8 mleuar
DAG @B OPYU pisaT GEmler  epanrelg)
ENangs@s swwm@h. (i yisear @pmuier Berb
20 cm, erafled, Hwbs <y isean @Gwmuier Serld

(1) 132cm

(2) 12-5cm

(3 8cm

(4) 16cm

Bflar  2@pbleown  gdaelggn  Qardblael
yeraflg@gn Qe Cu  Ceudu@hn o Qe dw
Qeutin QuipHrsden Hpewr

(1) 268%

(2) 6:25%

3) 20%

4) 12:5%

s Geuliufleneuled o &Smer  epasIamTaTg
Hallulelmpg Ul (BF Qeoes Csameuwmear rms
Causgansl GQumid

(2 &8mer ppedander Hlapm (m) = 2:76 x 1026 kg

Gurer avGuer wmhlal ky = 1-38 x 10723 JK!
QarhssiuLl(Hererg))

(1) 2:508x10*K

(2) 5016x10*K

(3) 8360x10*K

4) 1-254x10*K
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107.

108.

109.

110.

A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 1-5m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
0
C B
1 a= 2
cosec 0
(2) a=gcos0
g
3 =
3 a sin 0
(4) a=gtan6

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm
(2) 0053 cm
(3) 0-525cm
(4) 0529 cm N A A A
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by
A A A
(1) -8i-4j -7k
A A AN
(2) -71i-8j -4k
A A JAN
3) —-4i-j -8k
A A A
4 -7i-4j -8k

107.

108.

109.

110.

%
Errer WBaryeod B 6 gréssdHernéd q Weran L b
Qarer @ Qumbew sTrTaTg o rmieuphn HeLger
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wroptu@ng. Qbs yasHear srEssHd  sTrTaTg
QarLibg Coaib @rar® elearmgsd paidng. erafler 0
g 3 larmgsefle arflar smyefl HasGousd wHMILD
gyrefl elenrey
(1) 2m/s, 4m/s
(2) 1m/s, 3-5m/s
3) 1m/s, 3m/s
(4) 1-5m/s, 3m/s
m-fleopQarar. Qgr@liy qern 0-smiie]sCasTend
Qarar. ABC  eremm  eulpeulpliLiner  smilgengsdlen
B eeussliul (Hererg LILSSe sl iul (Hererg|.
smugeronarg euelupmLrs ‘@’ ey (PHESLD

QarsstiuGdng. QsrEly  stwseasdenss
Blevaowrs @@uushsTer  a  wHmb 0 HS
@eL Cuwrer Qs
A
2
a
0
C B
1 a=—S
cosec 0
(2) a=gecosH
g
3 =
® a sin 0
(4) a=gtan6

@ wreawe Wardlmmeray 0:001 cm Gsrer &mE
Sjerellevws GQaram®, e bl @@L Geiriger
AlLsems ersfpmr. HmE erelluder epew
Sjere] LU 5 mm wHYD el L ere] Wifladler
splurarg CuonGasrer wLLsHD@ 25 WfleysEnss
Cued RHEIE TS GTeTg). Hm& <jered
— 0:004 cm s CsreamLgl erafldy, @eTiqem
Flwrer eS8l Lb.
(1) 0521 cm
(2) 0:053 cm
(3) 0525 cm
(4) 0529 cm
yerrefl (2, 0, — 3) &, yerefl (2, — 2, — 2) guQuTmSSI,
- A A
oAevs F =41 + 5j — 6k psrer 2 hesmss H(HeUg
A A A
(1) -81i-4j -7k
A A A
(2 -7i-8j -4k
A AN
(3) i
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111.

112,

113.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

. . 4{1}
i=sin | —
u

Reflected light is polarised with its electric
of

(2)

(3)
vector perpendicular to the plane
incidence

i=tan ! [lj
u

In Young’s double slit experiment the separation

(4)

d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
3)
4)

1-8 mm
21 mm
19 mm

1:7 mm

An

large angular magnification and high angular

astronomical refracting telescope will have

resolution, when it has an objective lens of
(1)
(2)
(3)
(4)

small focal length and large diameter
large focal length and large diameter
large focal length and small diameter

small focal length and small diameter

111.

112.

113.

‘W gdllefesd aanCsrar swger urliler g,
sl mhg @@ searellameranm ealluBEng. @
GO u@Gsrend -0 GrHueiiiy s mb
Meo@admb geamstarean Cek@Essts @) mLULg)

saLPlwiL G Dg. O\bss GhBlameass,

erLmeuamaumbled eThss gmdm Filuimerg)

(1)  QGrduediy el S|SB Wletrenflwied
QeusL(pLarmer LHgasHDE@ @enanrdenaudled
SeredleneremiLd

2) i:sin_l(lJ

u

(3) WGrduedliy el S|SB Wletrenflwied

QeusLmmLammar  U@BseTsHDE CQFmGSs

Hevgulled gemellanemeymiid

i= tan_1 (lJ
u

) Grian
Merays@nsE @l d operg 2 mm.

(4)

Wi Qerey  uNCanganeruled
LwerussLL@L gafuler semaBerd A = 5896 A
wHmd  HersEh
Qsrevavey D e iy 100 cm. eueerwimigefler

1Yeme @D

@enLiul L

Caranr g 0:20° 9Gg A whmibd D wHiulnes
0-21°  oerey  flsflss,
WereysEns@ @eaLtul L Agrenoeid Coameuwimer
LOTHOLD

(1)
(2)
(3)
(4)

Comanr  Ss5HMS

1:8 mm
2:1 mm
1-9 mm

1-7 mm

@@ auraflwd qalellasd Ggrame Crrsdureang,

9Hes  Caraw o wmUOLMmGESWD, 2wi  Csmeanr

e auia|b O&mTariqHés, ger CQUTmHeTHE
clldenavwimerng

1) @opbs Gwusgsmrb wHmbd Hs 6§
Qsmeriy (h&s Couem(Hid

9Hls  Glwusgmbd wOHnIL  Hs
Qe m&s Couar(hib

s @elwusgmbd wHmbd Aflu 6L
Qs ey (h&es Couem(Hid

GOPHS GENUSEITD HHID G@®DHS 65l L1b

(2) &qLL1b
3)

4)
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114.

115.

116.

A carbon resistor of (47 + 4:7) kQ is to be marked
with of different
identification. The colour code sequence will be
(1
(2)
(3)
(4)

rings colours for its
Violet — Yellow — Orange — Silver

Yellow — Green — Violet — Gold

Yellow — Violet — Orange — Silver

Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 10

(2) 20

3 11

4 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I

s

(D

(0] —>n
I

(2) Tf
(@) —n
I

3) T i
0 —>n
1

4) T i
(@) —>n

114.

115.

116.

@@ sriuer Weatgen (47 £ 4-7) kQ <yarg Sigen
wdlemu  SETLOUSDETE UGN  GUEETWS
GSOMSEH  Sieorwmerd  @Liul(ererg. @ ser
cuamentd GO B euflangsslyoid

(1) oasm - EHFET - Y TEHS - QeuaTafl

(2)  Epser - LFs - agm - GQuTeaTaimd

(3)  @per - arsm - TEhHs - Geuearfl

(4) u&ms - YrEps - 2asm - Quranaipbd

go Wersen ‘R Qarar ‘n’-eramenfléangudevmer
HerserLsar Gsmi @eaeriile R ojsergen
QaremLgib ‘E <oemey emf Qarmemgomar wWe

gL @earssliuBSng.  @Fd  umyb
WerCerrmi_LLb I S GLD. @uaumpg)
‘n’-creuranfléangudl oo me lengenL_sar <2Cs

WerssgiLer Lss @aenliGd @)amenasil LT
uryd WerCermiLib 10 I < dlpg erafled ‘n’-ebr
S

(1) 10
(2) 20
3 11
4) 9
@M Warsws Gsm@liurearg wrmu® erarailsams

‘n’-Qas e LGS TS GO TEIHED 6T Qs mesr(HeTerg.
(peu@eurendler slansamLbd ‘T GsTeaTLg)).
el Qzri @evenrlibed @)enanrdsiLL (heTeren.
Wersag Qgm@Liber (panarser eemlananTésiiLiL ()
WerGanmLiorergl I oersstiu@dHpg. Gereumb

cuepCamipd ebs qerm I wompbd  n-He
@eL Cuwrer sflwrer Qarireou sramissng
I—
w 1
O —n
I
(2) Tf
(0] —n
I
(3 T :
0 —n
I
4) 1‘ i
O —n
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117.

118.

119.

120.

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
4)

Angular velocity

Rotational kinetic energy

Moment of inertia

Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(1)
(2)

Raindrops will fall faster.

Time period of a simple pendulum on the
Earth would decrease.

3

Walking on the ground would become more
difficult.

(4) ‘g on the Earth will not change.

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K, : (K, + K,) for
the sphere is

(1) 7:10

(2 10:7

3 5:7

4) 2:5

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1)
(2)
(3)
(4)

Ky <Kp <K
Kg <Kj) <K
Kj > Kg > K¢
Kg > Ky > K¢

117.

118.

119.

120.

@@ HLsCamenorearg Sigear s SFama LbHM
Qeuaflller  seamaflFenswns  sHPHS DS
Sigen Hlevpans WLIHDHTOD AFeT Y Jib WL (HLD
dsflsstiu@dng.  ecafle,  HsCarersamsi
QuITBSSLOL 1q.6 19 6treu (HeueTeU H bl e THS
@Quplwe sryewtlumearg IO @) (HEHEHD

(D
(2)
(3)
(4)

&L Ig e

Caranr flansGousid

08 QUi 24pe

SIGREE Ly

Carenr 2 bsLd

Ghlweafler Hlepm LISF OLEIG GODeUTHE D, FFTLIL
wrdledl USFH LLEIEG AHSLTEED SHeTell g6
@®bsTD, Wemeu(Hd Fahildd 68 Seaummers

(1)
(2)

wenpdglefaer GCouswms SLHmmni@D.

Helluller safl sasallenr smew moe] Crrb
G®DUID.

(3) syl pLiUg Wsabd HFowrs @ mHEED.

(4)  yeluytiGer g ‘g-er LI LIDTF.

@m S Quss5S
o 6Tengl, 2 (HEHd Qusssdle, @ CuTmeTTarg)
@Lutuwire] Quss omed (K wpmibd spbHd
Quss <gnme (K) @reameaLub CsCrrssld
QupH HSESD. erafled, S sCamarsdlhHarer
K; 1 (K¢ + K,) s50,

(1) 7:10

(2) 10:7

3) 5:7

4) 2:5

Camemonang 2 (HE@HD

Glluemars  shfleumbd  Bereul L liumegulled 6
Carefler @uiss <pnmed A, B wpmib C flavesafled
wpeonGu Ky, Kg wompn Ko @b, @fluer
uLgdled sriqueirm S- Hlaveudd @me@n Gung
AC eremug Quilu sigemsuyd SB eng AC-ps

Crit @&gTH6 D 2 drarg|
B

Ky <Kp <K
KB<KA<KC
KA>KB>KC
KB>KA>KC

(D
(2)
3
(4)
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121.

122,

123.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of Ig, I; and B are given by
20V

(1)
(2)
(3)
(4)

Ip =40 uA, Ig =10 mA, =250

Ip =20 uA, I =5mA, B =250

Ip =25 uA, I =5mA, B =200

Iy =40 uA, Io=5mA, B=125

In a p-n junction diode, change in temperature
due to heating

(1)
(2)
3
(4)

affects only reverse resistance

does not affect resistance of p-n junction
affects only forward resistance

affects the overall V — I characteristics of

p-n junction

In the combination of the following gates the
output Y can be written in terms of inputs A and
B as

Ae
Be

—~
>

(1) A.B
(2) A.B+A.B
3 A.B+A.B
(49 A+B

121.

122,

123.

ECQaT(HEsLILL (HeTer sHlev, o _cmaf(h
Werrarpssnd (V;) 20 V, Vgg = 0 womibd Veg = 0.

erafled, Ig, I wbmitd B e gLy
20V

(D
(2)
6))
4)

I =40 uA,
Ig =20 uA,

IB =25 MA,

Ic =10 mA, B =250
Ic=5mA, B =250
Ic=5mA, B =200

Ip =40 uA, Io=5mA, B=125

@m pn  spdeLCumgd,  Cetintu@ssi
U@eugme ghuBbd Qeuliubleane wrHmD
(D

(2)

SHmulbu WergeL e L (HD UTHEEGHD
p-n gpdlullern WeTgeLew LTHSsTg

3)  earCarmsdlw WenLsenL_emw L Hb
und& @D

(4) p-n spduler wpeugiorer V-1 ua@niwueme
undl& @b

ECp  Qar@ssuul(peer  sidseumuied  &Hm

Siowibd, o dafhadr A womid B perer sflwmer

Qauelui® Y

Ae

B=r

(D

> ¥
>

&
os]

os}
+
>

(2)

>
o]

+

g

3
(4)

A+B
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124.

125.

126.

127.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %7»0, the power radiated by it

becomes nP. The value of n is

1 —
(2)

@ -

81

(4) 556

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 4F
3) 6F
4) F

A sample of 0-1 g of water at 100°C and normal
pressure (1:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 104:3J

(2) 42:2J

(3) 2087dJ

(4) 845J

A small sphere of radius v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1
@ 1
3 1
(4) r

124.

125.

126.

127.

@@ smbEuTmeilear <ynnd sdicids P wpmbd
2g Quw Yyhpoe Ay Amebarsdd alafng.
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<D %7“0 smaparsded Qeuall gHpeurmy

wroflerme, dned sHieiss nP  eeprdng.
ecrafled, n-eir ol

(1)

[ NIV
o
»

(2)

3

w5

81

256

a@Cr Qummeilerme Ceuwiiul L @rear@® sblser
&Gy =jemey LW QETETLSTEa|b 2 6Terar. (PSHeD
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Coameuwirer allangulilen jere]

(1) 9F

(2) 4F

3) 6F

4 F

100°C e, Quicbuimer 2(pdsHed (1-013 x 10° Nm2)
oserer 01 g wrdfl feoy elwrs wrHy 54
sCamflgeg 100°C Qeutin ypped CoameutiuBSng.
@dler 2 pusHurer peflufer L@wer 1671 cc
erafled wrdMudler =18 pbmed wrmur®

(1) 104:3J

(2) 422J

(3) 2087J

(4) 845J

T-gyb OQarar @ Sfflw Carerwrerg guiey
Blevoullembg e umin Hreusdeper efllpmm
Qeuwtin@dpg. @ser  oflewemeurd LMW
devsullanmed Geuliud 2 (heurdlpg. Csmarwmeng
poaws SosCassms e wbGurg Geuin
o (heum&s 6ig iflgl QummssD
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128.

129.

130.

131.

An em wave is propagating in a medium with a
velocity V = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1)
(2)
(3)
(4)

— z direction
—y direction
+ z direction

—x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 60°

(2) 30°

(3) 45°

(4)

Zero

The magnetic potential energy stored in a certain
inductor is 25 mdJ, when the current in the
inductor is 60 mA. This inductor is of inductance
(1) 0-138H

(2) 1-389H

(3) 138:88 H

(4) 1389 H

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards

the mirror, the displacement of the image will be
(1)
(2)
(3)
(4)

30 cm away from the mirror
30 cm towards the mirror
36 cm away from the mirror

36 cm towards the mirror

128.

129.

130.

131.

R WBaamhg o @ 26 ssler  euflGw
;)7 =V,i\ SansCeussder Ly fngl. bss sarSHled
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— X Slangulled

@m wuul st Qummefler geflellosed ereir J2
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Qarem® @pUULL&ssSler 6@ eafellosd LTI
S lg WIS
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wHEADTH  LsEsSSH e auflCw  2apimedl 2ims
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Sigen (LUl Lssder Wgmear LiHCsmentd
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4) &

@  lergreanmiquied

o ' L|DLOm&

wroptiu®dng.  eeflufer

Casfssiul_(Herer  &THS
Blevoowmpmed 25 md, Wergreriguie WerGerm L Lb
60 mA erafled, Wegmasm_adler iy

(1) 0138H

(2) 1389H

(3) 13888 H

(4) 13-89H

15 cm Galwsgmyd Qamear e &ulyiquiledmbs)
40 cm Ogreveelled CuUMBET meussLILIL (HETaTg).
geow Cprsdlu Hasuiler Qummermearg 20 cm
Qs renaveih @ BEHTSSLILLLTED, QibLigd et
@LUGUwTey

(D
(2)
3

4)

< lquilallppg 30 cm aflewdlF6lFead
24 Crrsdl 30 cm Crrsdl @) ms @b
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132.

133.

134.

135.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 cm and 73 cm of
column length. If the frequency of the tuning fork

is 320 Hz, the velocity of sound in air at 27°C is
(1) 330m/s
(2) 350 m/s
(3) 339m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2)

proportional to the square root of the

distance between the plates.
the distance

3

linearly proportional to
between the plates.
(4)

inversely proportional to the distance
between the plates.

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1)
(2)
(3)
(4)
An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of

fall of the electron, in comparison to the time of
fall of the proton is

(1)
(2)
3
4)

2ns
2s
TS
1ls

smaller
10 times greater
5 times greater

equal

132.
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135.
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136.

137.

138.

139.

140.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column I
Co®* i V8 BM.

b.  Cr¥* ii. /35 BM.

c. Fe iii. /3 B.M.

d  Ni** iv. 24 BM.

v. 15 BM.

a b c d

1) iv v ii i

(2) iv i ii iii

3 i ii iii iv

(4) iii v i ii

Iron carbonyl, Fe(CO)jy is

(1) tetranuclear

(2) trinuclear

(3) mononuclear

(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)sy] is

(D
(2)
3
(4)

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cr0F”
2)

MnO,
(3)

(4)

Geometrical isomerism
Ionization isomerism
Coordination isomerism

Linkage isomerism

Cry02~
MnO?%~

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(D
(2)
3
(4)

square planar geometry and diamagnetic
square planar geometry and paramagnetic
tetrahedral geometry and diamagnetic

tetrahedral geometry and paramagnetic

136.

137.

138.

139.

140.

Qsrad I @ Qar@ssiiulL o Gors welsamer

Qsmad II & GCsrhssiiulL  euSweiserfer
sphél  srpsdBrusSnaier  GurGs  wHHID
sigar sflwrear @Muir e Csibos(Hdse :

Csmadl 1 Carad 1T
a. Co® i. 8 BM
b.  Crt ii. /35 B.M.
c. Fe¥ iii. /3 B.M.
d.  Ni* iv. 24 BM.

v. 15 BM.

a b c d
1) iv v il i
2 iv i ii iii
3 i ii iii iv
(4) iii v i ii
@y srruamerd, Fe(CO)5 <,arg)
(1) preng 5@
(2) s sm
(3)  qeTewd &
4 Qo 5w
[CoCly(en),] imawmey sT (G wrHHlwsSer
CUENSHWITEITE]

(D
(2)

GUlg @l eug LTHMWID

Sjwed wrhHdlwibd

(3) iewewray wTHOHWLD

(4) @eanriiy wIHMWID

Epsar_ Swallseiid erg gem d-d wrHDS®SWLD
WHMID LUTTTETHSSSETENOL|D 2 L WSTEGh ?

1) Ccro;
2)

MnO,,
(3) Cry02”
4) MnO>"
[Ni(CO)4] ewamraellen LmGleuefl jenoliy wHmib
&GMhS SGTEOUITET|
(1)  egminser ypGeuad ewLiy LHHID Lwim
SMHSES LD
sgirger UpGaelal ey whmid Cugm
SMHGSS 6 LD
prenpdl LmGeuef el whmib Lwm
FMHSES LD
wBrerpdl LmGeuafl ey whmid Cugr

(2)
3

4)
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141.

142,

143.

144.

145.

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1) 14

(2) 28

(3) 30

(4) 44

Which of the following oxides is most acidic in
nature ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

The difference between amylose and amylopectin
is
(1)

Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylopectin have 1 — 4 o-linkage and

1 — 6 B-linkage

(3) Amylose have 1—4 o-linkage and
1 — 6 B-linkage

(4)

Amylose is made up of glucose and

galactose

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They contain covalent bonds
various linear polymer chains.

between

(2)
(3

Examples are bakelite and melamine.

They are formed from bi- and tri-functional
monomers.
(4)

They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1)

In spite of substituents nitro group always
goes to only m-position.

(2)

In absence of substituents nitro group
always goes to m-position.

3) reactions

In electrophilic substitution
amino group is meta directive.

4)

In acidic (strong) medium aniline is present
as anilinium ion.

141.

142.

143.

144.

145.

2:3 g urmlls ofleon wHmd 45 g yssTedls
Sflon  somel LT HySO, o6  efevar
yidlpg. Gesefleumd eumyssefler soemey KOH
easeilar 26 QeqssliLGdng. STP uled
Bgperer ellanerGummetlen erenL (g) wirang

(1) 14

(2) 28

3) 30

4) 44

EpsaL. ysmshsaile gy Quibmsurs ds
S SSemenoL L g ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

SBlGmev  wHmd GGG 6T
2 arem GeumumL_meg)

(1) 1-54a-Qeerriy womb 1 —6
o-@evanriianLs LG TELIGLg 6
Qs memTiq (H&@LD

1 4 a-@eenriiy wHmb 1 — 6
B-@eenriianL CeomblLdig e
Qs memTiq (H&@LD

1> 4 a-@eenriy wHmd 1 — 6
B-@enantiian BlGeoman Gl meiTiq.(Hd@&LD
GerCamev HNID sro&GLTaflarme
SBIGeme 2,&E&HILIL g (HEHEHD

GN&EGS  Csriiy  Sdeog  euameliberared
veulggEmer Qursg, Spsar. sgmpmseid erg
ety sflwrearg Gevenev ?

(1)  QeucuGeumy CrTGam(h LUy
shsls@Ensdan_Cw salaneniiL|gsamer

Qs merLg.

Cusael., Qaenwer @eaubHlbs,
T(HSGISSTL_(N&HETT(S)LD.

Sjmel @rlep HMID (PN -
ManangCasT@d emuiguianme o (heum@Lb.
Ly Fhslefler ane auadlenwimenr
FHAmenTUILSMET 2L Wg|.

auallanoisls, <ifle oerL_G&H e Sietedleit
apl Cropd m-eplCrm  yafedlemanyn smAng,
eI eTrafled

1) uddhser QmbsGurgd eplCrm CGsm@d
eriGumgb m-@L sens CrrsdHCuw Qadgyb.
ufShsdr @QoersCurg bl Crm Qsm@Ed
eriGumgib m-@L sens CrradCu Qadgib.
ceslgrer  seut  uHl(H  aleneanseid
Carm CQgm@S m-eupL&@Lb.

fle  (culemwllE) oo s  atedle,
Satelaflub Sweallurs @me@Lh.

Gen G

(2)

3

4)

(2)
3
4)

(2)
3

4)
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146.

147.

148.

149.

150.

The bond dissociation energies of X5, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™’. The bond dissociation
energy of X, will be

(1) 200 kJ mol™!
(2) 800 kJ mol™!
(3) 100 kJ mol™!
(4) 400 kJ mol™!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1)
(2)
(3)
(4)

is halved

is tripled

is doubled

remains unchanged

For the redox reaction
MnOj +Cy02” + H' —— Mn*" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07- H'
1 16 5 2
2 2 16 5
3 2 5 16
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (@) +By(g = X,(g) AH=-XkJ?
(1) Low temperature and high pressure
(2)
(3)

(4)

High temperature and high pressure

Low temperature and low pressure

High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)
(2)

density of the gas molecules

electric field present between the gas
molecules

3
4)

volume of the gas molecules

forces of attraction between the
molecules

gas

146.

147.

148.

149.

150.

Xy, Yy opoid XY e Genenriiy Gflens <p,bmed
1: 05 : 1eramp efagssded 2 arergl. XY o (Heursed
AH sparg — 200 kJ mol™. X, efler Gevawriiny
Wflens <y mooorerg
(1) 200 kJ mol !
(2) 800 kJ mol !
(3) 100 kJ mol !
(4) 400 kJ mol !

elenar(HGLimmerer (OF - :; Qedey
@wLBsTEDd Curg, @m Uhweims eilaaruder
ST QUTDPE| STEOLD

(1) urdumsb

(2) bLLESTED

3)  @@mLLESTEWD

(4) wrPTE @EHSESD

2 55nCardn @hés elaarurer

MnO; +Cy02” + H'—— Mn®* + CO, + H,0

@6 FLTAILISSILL L FoTUT g6r  allenarLi(h

Qurmefler sflwrer Qspeirerg)

MnO; C,07- H'
1 16 5 2
2 2 16 5
3 2 5 16
@ 5 16 2

EpsaL aiGpHlomoulle sl s ellanarcummar
@eucilanamuileh 2 (Heuns eglaIm@Ld,

Ay (g +By(g) = Xy(g) A H=-XkJ?
G®phHs Aeuiuflan® wHnbd s 2WSSD
9Sls Ceulinflene LHOID AFS (PSSO
Gonhs  Geuliuflane WHmILD GSODHS
SA(PSSD

(4) <dls Qauiublere WHYID GHODHES (PSSO
Beadlwed] eimu Fwerurligd Hmsss sryenfl ‘@’
@sHE& GsmLiiyeLwg

(1)
(2)

(D
(2)
3

QUMY POSIaMSaTen L5
Gumyy
e eutd

EPO&In MG @EHSE e G @ m&E&D

3
4)

QUL PLPEGInMIGETI6T SeTieTey

UMY pesdmnsErsdaCu o drer seuTgs
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151.

152.

153.

154.

Which one is a wrong statement ?
(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2)

The electronic configuration of N atom is

162 252 2P} 2py 2p)

tol [ty (ALY

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

3

(4)

The value of m for dzz is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN*
(3) CN~
(40 CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 252 2p3, the simplest
formula for this compound is

(1) MgyXs

(2) MgyX

(3) MgX,

(4) MgsX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

J3

J2

3V3
442
43
342

1
2

(1)

(2)

3

4)

151.

152.

153.

154.

T @O SeupreT sy ?

(1) S-ym9 L medléd 2 airer eTQ gL _imeshl 6o
Qs < MaL L med Camremt 2 hsLd
LBwSHMHE& Fobml 2 6rang).

N @anieiih@ 2 erer rCloslFmer el
182 2 2py 2py 2p)

tol (MY (ALY

@@ BT LT PP (GHEUTERTLLD GTERTSETTeD
GSMUALOUGADgG Wulend eff  amieller
@@  oTCeslpmer  [BmemE  (&eUTeTL LD
eramsermed GO LIL@SDg.

(2)

3

(4)
@euayniliLsamar eT(hSGI&CETERTL T

CN*, CN~, NO wpmib CN
oTgl ety Sfswrear Wamariygsrsamns 2 aLwgl ?
(1) NO
(2) CN'
(3) CN™
(4) CN
Qusatflwd e@m seafwbd X) oLer ear Libg
am Sweall Cosibsms o Baums@b. (X) e
STPREINE TS TTET enLoLILITag) 1s? 282 2p3
erafled, &G TGSHletm eraflanowimen eumilrILITL_Temg)
(1) MgyXg
(2) MgyX
(3) MgX,
(4) MggXy

d, 2 & m iy Yhuiomi 2 6rerg.

<len  Qeudubleneuler @y bee  enwlienL
o e wigl. 900°C m@ Cuwéd =g fee anwlibns
900°C  ulgyid
@bl oLisd ddlswrerg (@biler Guomemt
Bleppud wOHMID @ B Fpd  CDeuiuflanaenw
QummSE LIDTE QHLILSTS C&STarTL_Td)

J3

2

3v3

42

443

32

1
(4) 3

wrmibd.  Sjep  Ceulinblenas@id,

(1)

(2)

3
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155.

156.

157.

158.

The solubility of BaSO, in water is
2:42x107°% gL' at 298 K. The value of its
solubility product (Kg;) will be

(Given molar mass of BaSO, =233 g mol ™)

1-08 x 10719 mo1? 1.2
2

(D
(2)
3
4)

1-:08 x 10 4 mol® L”
1-08 x 102 mol® L2
1-08 x 108 mol2 L2

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1:36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NHjg

(2) Oy

(3) H,

(4) COqy

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL % NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
1) b

(2 d
3) a
4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion

alone

(2)

Both magnitude and sign of the charge on

the ion
Size of the ion alone

3
4)

The sign of charge on the ion alone

155.

156.

157.

158.

298 K & $ifle> BaSO, e sanydpern 2:42 x 1073 gL 7L,
3G ST GlL(mES (Ksp) wdurerg
(Qar@ssriuc L BaSO, er Guorent flevp =

233 g mol™1)

1) 1:08x 107 mol® L2

2 108x 10" mol® L2

3) 108x 102 mol® L2

4 1:08x107° mol® L2

NH,, Hy, O, wppgid COy &@& Osr@ésiul
eumaTL T eumevav wrdladlsear wpepCu 417, 0-244,
1-36 wpmd 3:59, Spsan_ eumydsaied oTgl eTm
W& eraflgmas Freuwmgid

(1) NHj4

(2) Oy

(3) Hy

(4) CO,q

QaueuCGoumy  Gedleysaficv NaOH wpmibd HCl g

CeucuCoum  sarsierailed
EpsarL sarFosefld :

sOhg  SUTHGSILLL

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55 mL E HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL E HCI + 100 mL E NaOH
10 10

ergen gpanlen pH <yang 1 6@ sowrs @ msEh ?
(1) b

2 d
3) a
4) ¢

EpsarL ohs LaTLsealld @ Sweafluler Hilsed
Swerr sTiHE(HEGD ?

1)
(2)

Siwellufer Weseno iemeiled L (HId
Sjwailuller Wergend  jarey WLHOID (GO
@ramenL G

(3)
(4)

Siwafluler ieralléd L (Hbd
Sjwefuller Wergend @dlenw L (Hb
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159.

160.

161.

162.

Consider the change in oxidation state of
Bromine corresponding to different emf values as

shown in the diagram below :
- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br Br,

%
1-0652 'V 1-595 'V

Then the species undergoing disproportionation
is

(D
(2)
3
4)

Brog
Bry

BrO;
HBrO

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0-00224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water

4)

The correct difference between first-

second-order reactions is that

(D

102 mol of water

and

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed
the half-life of a first-order reaction does not
depend on [A];; the halflife of a

second-order reaction does depend on [A],

3

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4)

Among Cal,, BeH,, Bal,, the order of ionic
character is

(1) BeH, < CaH, < BaH,
(2) BeH, < BaH, < CaH,
(3) CaHy < BeHy < BaH,
(4) BaH, <BeH, < CaH,

159.

160.

161.

162.

&G  oarar srliquilmring  Gumed

LCrymislefleor
LIHDSDS

uLgdled
QeucuGeupy emf  wFuyeLw
B&5HnCardny  Hlevoouder  egHUBID
s(hSHed QamerrLmed :
— 182V - 15V
BrOy — BrO3 —— HBrO

Br

10652V 2 “1595V
ASflgs HamgalsE o damm@Gh 2 nliLTearg
D(&LD.

(1) BrOg

(2) Bry

(3) BrO;

(4) HBrO

EpaarTLcubbled erdleb B £ 6V & 1) & @i 6o
cranenilsans HsLLForl @)HEGD ?

(1) 18 mL gfed

(2) 1latm opmd 273 K e 0-00224 L Sir
<y 6lufled

0-18 g Hfled

1073 Guored Fifled

(3)

4)

(PSDH LHOID @rETLTD cuens ellenansefler Filwmear

Caupiuim(h eresrigy

1) s e eperudcr
cfllenesru (L1l Limmerfler

leverGeusid
Qedeae
MBS (H&STE; @ remLmbd euens edaneruller

oo &

demarCGeausd alevaru(Eummeier Ggdleneu

FMHS (H&EGD
(2) wse QUMS elenesTen (L
@ﬂmmgé;asuu@gg,mrm; @ esTLmLD QUMS

cemarerw eflenamnussLiLHSS @) uieung
) wse aws oandar <@y eurpe| [Al,
MBS (H&STE; G remLmbd euens edaneruller
<o eumpey [Aly sripglmsELD
(PSD eflenarulleor
enaru Qumpefler Cadency Fmibd(HEEGLD;

4) NevearCeusid

[QRT:N

@uarLmb-auems eleeander  claarCGousd
ey Qummefler Gedeneu gripd(HEsETg

CaH,y, BeH,,

uerdesr cuflepgwimang

(1) BeH, < CaHy < BaH,y

(2) BeH, < BaH, < CaHy

(3) CaHy <BeHy < BaH,y

(4) BaH,; <BeH, < CaH,y

BaHy o ducupdeaper wefill
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163.

164.

165.

166.

167.

168.

In the structure of C1Fg, the number of lone pairs
of electrons on central atom ‘CI’ is

(1D
(2)
3)
4)

one
four
two
three

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Mg

(3) Zn

4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<In<Ga<Tl

(2) B<Ga<Al<Tl<In

3) B<Al<Ga<In<Tl

4) B<Ga<Al<In<Tl

Which one of the following elements is unable to
form MFG3 “ion ?

(1) Ga

(2) B

3 Al

4) In

The correct order of N-compounds in its
decreasing order of oxidation states is

(D
(2)
3
(4)

HNOg, NO, Ny, NH,Cl
HNOg, NH,CI, NO, N,
HNOg, NO, NH,CI, N,
NH,CI, N,, NO, HNO,

Which of the following statements is not true for
halogens ?

(1)
(2)

All form monobasic oxyacids.

All but fluorine show positive oxidation
states.

3
4)

All are oxidizing agents.

Chlorine has the
enthalpy.

highest electron-gain

163.

164.

165.

166.

167.

168.

CIF3 @@wide, eww g Cl oder salss
sl men @l enL saflen eramentsanswmang

(1)  gemm

(2) prens

(3)  @uewr®

(4)  epermy

dlmanmd  ULSMS  HHSSHD
EpasaL 2 Carshseild og S@ilammeame (&S
vweru(GEmg ?

(1) Fe
(2) Mg
(3) Zn
4) Cu
Qsm@ad 13 gaflwmseaiar sflwnrear <iam <,rhseter

cuflengwnergl

(1) B<Al<In<Ga<Tl
(2) B<Ga<Al<Tl<In
(3) B<Al<Ga<In<Tl
(4) B<Ga<Al<In<Tl

Q& TEHTLTED,

EpsarL gaflngded ergl eremm) MFg’_ Siweflenw
2 (Heumd @, @Querg ?

1) Ga

(2) B

3 Al

(4) In

N Carnigefler @niGeufang
258lnCardn Hlevasaiear cuflenswmeng

(1) HNOj,, NO, N,, NH,CI
(2) HNO,;, NH,CI, NO, N,
(3) HNO,, NO, NH,CI, N,
(4) NH,CI, Ny, NO, HNO,

Filwmesr

Epsar  smpmseflad
2 v uflsvemev ?

(1)

QD TEVED GITS (ETH & (& erg)

GO RHEDSTY &S HOSMS SH(HLD.

(2) yepflewar  selTE5E  SAwars D  CET
B5HDnCardm Hlaven s &T_(HLD.

(3)  erdvamd <y FSlCarhbluim@Ld.

4) @Cerriler awrar eTeslgrer - GHDHED

eramg el 2 enL wig.
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169.

170.

171.

172.

The compound C;Hg undergoes the following

reactions :

3Cl,/A Br,/Fe 7n/HCl
20 A 2 B = C

C7Hg
The product ‘C’ is

(D
(2)
3
4)

m-bromotoluene
3-bromo-2,4,6-trichlorotoluene
o-bromotoluene

p-bromotoluene

The compound A on treatment with Na gives B,
and with PCly gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HsOH, C,Hy, C,HsCl

(2)  C,H;Cl, CyHg, C,H;OH

(3) C,HsOH, C,H,Cl, C,H;ONa

(4) C,H5OH, C,H;ONa, CoH;Cl

(A) reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon

Hydrocarbon

reaction is converted to gaseous

atoms. (A) is
1)
(2)

CH=CH
CH, - CH,
(3) CH,=CH,

(4) CH,

Which oxide of nitrogen is not a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N,O5
(2)
(3)
(4)

N,O
NO,
NO

169.

170.

171.

172.

Gemow C;Hg Spsem. dllenaranws yfdng) :
3Cly/A  Bry/Fe _ Zn/HCI
Z5>A 2SBS0

7Hg
anar@ummer ‘C’ wrang
(D
(2)
6))
4)

m-LCrrGuom@ Lmeedl e

3-4yGyrGom-2,4,6- Lavr@CarCrmaLmgeiler
0-4GyrGrGlLrayaflesr
P-4CrmGuom@Lmeedler

Caiwob A wrergy Na o L ar Caibg B & s@mdng
wpmib PCly wrer C & smdmg. B wpmb C
@aprs lamaryfbg eoLasdd FE507 SHEADG.
A, B opmib C wler euflangwinansg

(1) C,H5OH, CoHy, CoH,CI

(2) C,HCl, C,Hg, C,H-0H

(3) C,H5OH, C,H,Cl, C,H;ONa

(4) C,H5OH, C,H;ONa, C,H;Cl

aant Crramruer (A) yCrmieyer LSS qermed
Memaryfipg <gdensd YErmewel 2 (heumd@GLb
SmauCu 2 mev elenamuier eped BIeT@GEHESL0
GODEUTET  SMTLET eSS  GETamL  eumy

aapl Grrsmiuerms LIHHL AoLSpng. (A) curarg

(1) CH=CH

(2) CH;- CH,

(4) CH,

@Qupes wHmL wels CFwue  @reaigearTeb

auaflbam_gdd o261  LGssuuBhd  pLyeen
ASMEOSEHET gl @en dungeurer Wr&ELHSS
Hlem_wing) ?
(1) NyOj
(2)
3)

4)

N,O
NO,
NO
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173. Which of the following carbocations is expected to
be most stable ?

(D

NO,
Y H
NO,
@ H7©
Y @
NO,
o Q

Y H

NO,

Which of the following molecules represents the

T

4)

=<

174.
order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
(4)

HC=C-C=CH
CHy=CH-CH = CH,
CH,=CH-C=CH
CH3-CH =CH - CH;

175. Which of the following is correct with respect to

— I effect of the substituents ? (R = alkyl)
(1) -NHy<-OR<-F

(2)
(3)
(4)

-NHy>-OR>-F
—-NRy<-OR<-F
—-NRy>-OR>-F

173. SpsavL smiuar Cpr Swealed eg s ds
BlevUILSFETEND 2 L WSTSE 6T TUTTESOTD ?

NO,

(1 ®

Y H
NO,

v/ &

NO,

Y H

NO,

174. QL OmBg LTS

s

(2)
(3
(4)

<

SEMGHET  EPSETL. GThHS
PO &G D] 6 spz, spz, Sp, Sp @ersseLliL| alflangamwis

sr_([H ?
(1) HC=C-C=CH
(2) CH,;=CH-CH=CH,

(3) CH,=CH-C=CH

(4) CH3-CH=CH-CHg

175. -1 udSH eNenareneu QuUTBSE Spseim_ocummier
orgl sflunarg : (R = <y denged)
(1) -NH,<-OR<-F

(2) -NHy>-OR>-F

(3) -NRy<-OR<-F

(4) —-NRy>-OR>-F
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176. Carboxylic acids have higher boiling points than |176. UL Ll Gamigw PO EFo. M HleppujenL_w
aldehydes, ketones and even alcohols of < iq e (HSET, &1 CLrensar LwHmIb
comparable molecular mass. It is due to their D DEADTOSEET S g @ilb STTLITEELTeE
(1) formation of intramolecular H-bonding Sfleomsdr s CAardbleen  yearalsamar
(2) more extensive association of carboxylic 2 LW gar erafled Geumiled

acid via van der Waals force of attraction 1) epesmMaCu H Qavertiiy) 2 Heinse
(3) formation of carboxylate ion 2) anarLi ardd swisdl fos  apowns
(4) formation of intermolecular H-bonding sriumsaTs  oufosdar  ods  ois
B aTESSSTeD

177. Compound A, CgH;,0O, is found to react with (3)  smiLmsalGal ewal o mauTasTeD
NaOI (produced by r(?a.ctlng Y.WIth NaOH) .an'd @) pesmiae H oty o mousd
yields a yellow precipitate with characteristic
smell. 177. Gsiow A, CgHy(O, NaOI wrer clevaryfleugns
A and Y are respectively <AMEHComd (Y-wreargy, NaOH o e eflenaryfbg

o HusHwTEmgl) WHOID @ WERSFET 6IpLg e
1 HeC < ) CH,-OHand 1, GO S565 Apgudr 5EADS)!
A vpmpd Y wureng wpanpGuw
@ HyC~ ) CH, - OH wppin T
@ ¢ ) CH-CHjand1,
I
OH @) @— CH - CHg wppio
(3) ©_ CH2 - CH2 —OH and 12 OH
(3) ©_ CH2 - CH2 — OH LD{@QJID 12
CHjg
4) CH, G OH and I, CH,
(4) CH, @ OH wpmib I
178. In the reaction
OH O Na* 178. @susllananrudled
OH O™Na*
+ CHCl, + NaOH —> CHO CHO
+ CHClg + NaOH ——>
the electrophile involved is . TQas grar st sTafuTs FHUGS
(1) dichloromethyl cation (CHCly) ®
(1) e@CernCrr Quwgdle Criojweafl (CHCly)
S]
S
2) dichl thyl anion (CHC1
(2) dichlorome ye:nlon( 9) 2 oL @CamGrr QuosBd afit sl (CHCL,)
(3) formyl cation (CHO ) ®
(3) unrfewed Cri uied (CHO )
(4) dichlorocarbene (:CCl,) ) oLCamGyr smiser (:CCLy)
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179. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AIC,
@ + CHgCH,CH,Cl ——3—»
(i) 0,
it Q +R
(ii) H3O%/A
P Q R
CH,CH,CH;  CHO
1) CH3CH, - OH
CH(CH,), OH
@) CH5CH(OH)CH,
CH,CH,CH; ~CHO  COOH
el <Ne
OH

4)

CH(CHy),
@ CH; - CO - CHy

179. Spsav  Neversefler  eaflavsules  wpsHw

clemarGumrmerser P, Q wpmid R & seprdluieb :

£les
AIC,
@ + CHyCH,CH,Cl ———2
(i) 0,
— 2 . Q+R
(i) Hz0"/A
P Q R
CH,CH,CH; CHO
(1) CH4CH, — OH
CH(CH,), OH
@) CH;CH(OH)CH,
CH,CH,CH; CHO  COOH
® 0.0
OH

CH(CHy),
@) @ CH; — CO — CHj

180. Epsa Caiomigaie ergl evseill LT weiaw

180. Which of the following compounds can form a
zwitterion ? 2 BaunsGD ?
(1) Aniline 1) ataler
(2)  Benzoic acid @) GuenGsmis wifiwi
(3) Acetanilide
3) <f el
(4) Glycine
4) Severdler
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Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

SPHEVTL. M6 D THENET HEUGTIDNS LIL|SSHELD &

1.

Csitey erpgiueuiger samasreaniiumert GCsl @b
Curg ghgerg S@iLd SALoLeows sTamiss
Geuar(Hib.

CsiTe 6r(pgiLIal eTeU(HLD SersmentLiLimarler
Apiiy epwdudend, jeuyeui
@b s (mhg Qgde

SIS ESLILIL DML L TTSET.

Caitey erpglucuiseT  Shsag  Semuieierer
samasrenfliumerid @ mupern eumasl Ldles
QesQumiund @r  Geueam@BL  WHMD  FESETS
MenLggrener owp Csieys sHemamentlLiLimeriLLb

Qar(hss Y erarGry Qeuafluded (AN

@SS HGUTT. BressTL_meug (peom
esCwmiLdL g Caiteuiraer, SBIS6NG
eNlewL_ggnenern 169N &8 65518 Mewsfl 1L memifl L_Lb

Sefl&anned Casimgns smaLIL@ et LHNID 3G
Seurgl QummiumHm QFweons s@mHSLILI(HILD.

Wenergy/sraryenr  safllbsdr  LweTUHSS68)
sl QEiwtiul (HeTerg.

Csra)  empullayer,  Csiey  er(pgUITSET

S EETEU(THLD Caireileir UL S L BIs@h& S,
o " LI L QUINT&ET @I, Qurmtiumho GTEOEVIT
QawsEnms @D Cairaler FULS LSt

BLalg&EMS T(H&&LIL(HILD.

s Ghailmoulgn GCsreyl U ssh  WwHmib
e _ggrener INSASHESD Fol Mg

Caitay erpgiualiser smserg Csie] Lsss
e gsmer @O e eu@mens udeidgrafid

sULmub er(psGauar(ib.

HLAAC/MM/Page 44

gcollegeduniag



